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Answer any nvo of the following :

(@)  Explain any nvo types of non-verbal communication.

(®)

(©)

(-

Read the questions very carefully before answering and keep .

Explain the functions and merits of diagong)

communication.

What are the merits and demerits of the formal channel

of communication ?

How can one overcome the barriers to communication ?

to the point :

(a)

Write a short dialogue between the Receptionist at a hotel

and a Tourist. : 5

Or

" Write a short dialogue between a Doctor and a Patient

who is suffering from a headache ?

4.

(b)

(c)

(@)

8662

Imagine you are the Principal of a school interviewing the

parents for their child’s admission to the First Standard.

- What questions would you ask. Write appropriate

answer. 10

Or

Imagine you are a journlist. write an interview with your

favorite Sportsperson.

Write a public speech (in about 100-150 words) on any

one of the following : ; 5
The Social Evil of Child Labour.

Or
The Importance of Education in Li-l"e.

Read the passage given below and answer the questions

that follow :-

Socrates taught that “the man who is master of himself

is truly free’. By being master of oneself he. meant first

PTO.
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knowing oneself. one’s own faults and weaknesses and
one’s own good points, without making any pretence and
without being vain, and then being able to control oneself.
This knowledge of himself was what helﬁed a man to be
courageous, and the courageous man has a very impor-
tant sort of freedom from fear. Socrates himself, because

he was not afraid of the consequences, always felt free

to teach what he thought was right, however unpopular

this might make him with the powerful people in Athens.

Questions :

2

() Who is truly ‘free’ according to Socrates ?

e

(ify How does knowledge of oneself help a person ?

(%)

(itiry How did Socrates apply the above principle ?

(iv) Give antonyms (words with opposite meanings) of

the following words : ) 2]

(1) Weakness

)

(2) Important

(3)  Fear

4) Unpopular.
Do any one of the foll'owin-g : 5

Using your own words, write a summary of the following

passage in about 50 words :

Money can be abused as any other thing can be abused.
‘Money 'in our day means power, and if a man uses that
power‘to buy off men so that they may betray their homes,
their friends or their country, or if a man uses his money
for purely selfish purposes, he is abusing his power. All
young people wanf money, but money to be worthwhile,
must be‘ eameﬂ?- A-person who inherits money or gets
money from gambling or profiteering in any other way

in which he does not earn it, never knows the real value

P.T.O.



(a)

and purpose of money. Often he abuses it rather than
uses it. What are the uses of money ? Money is a medium
of exchange. It is to be saved not hoarded. for sickness,
old-age. investment and service to others. It is to be given
away to relieve suffering. for study, for mission, for welfare

work, for anything that will make the world a better and

happier place to live in.
Or
Briefly discuss the various types of translation.

Write a letter to the Editor of a Newspaper regarding rash

and reckless driving by the drivers of DTC buses. 10
Or

You are the Purchase Manager in a company. You ordered

20 computers from M/s Gupta Traders, New Delhi. On

_ delivery. 5 (five) computers arrived in a damaged

condition. Write a complaint letter in this regard.

(h

{7 N 8662

On behalf of the Students™ Union of your College. sumbit
a report to the Principal on the shortcomings of the College
Canteen with your recommendations on how to overcome

them.
(@5

As the Administrative Officer of a company. write a Report

to the Managing Director on the general inefficiency and

- neglect of duty by some members of the staff. Also suggest

recommendations to overcome the problem. 10

7 by 25.700
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)

Write an essay on the society and economy of ¢
Guptas.

TR AT U9 sieee W Us feu fafaw

Discuss the achievements of Samudragupta on the basis
Allahabad inscription.

TARER TR & MUR W e o SToieml 3t == $ifon

Describe the extent and administration of Harsha'
kingdom.

'Y &% U9 R v wmew @ ool iR

Bring out the main features of Chola administration wif
due reference to its working at the village level.

TAIT w0y & SR ' ¥ St v 9 g Rt
@i A |

Examine the changes that occurred in the socio-econom”
and political spheres in north India during the post Gup!
period.

TR e § IR ARG | A - s vd e &
B URaa o R S )

Highlight the main features of Pallava administration.

Teed WA S W Rt W g il |

Explain the struggle between the Rashtrakutas, Palas and

Pratiharas for political supremacy.
oA a9e @ Y Uee, Te U9 WRER @ 9 /EY @ e
e |

What are the various theories regarding the origin of the

Rajputs ? Explain.

Toqal & It ¥ wwtm Rt R @ 2 7 s S
Account for the success of the Arabs in Sindh and its
impact ?

B ¥ sE & arear U9 399 WWE B 9 A €91 |

Write a short notes on any two :
(a) Gupta art and literature

(b) Chalukyas

0
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(c) Vaishnavism and Shaivism

(d) Turkish Invasion

() T wew ¢d wileH
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8645 2 . 3

|, Write an essay on the society and economy of §pohljght the main features of Pallava administration.

Guptas.
Wammaﬁgmﬁ%wmsﬁmmeﬁﬁ:

TR A T st W TE mew e

Explain the struggle between the Rashtrakutas, Palas and

2. Discuss the achievements of Samudragupta on the basig ) 0

Pratiharas for political supremacy.

Allahabad inscription.
- i T B R g, T v AN & A e

TeeER VEORE B STUR R EE A Iyara @ == A = o

i |

3. Describe the extent and administration of Harshi :
What are the various theories regarding the origin of the

kingdom.
Rajputs ? Explain.

E&%mﬁﬁﬁﬁwmaﬂha&ﬁﬂﬁ; | ‘
o @ Swt & wwta Bt e 1. & ? Ui i |

4. Bring out the main features of Chola administration W
due reference to its working at the village level. Account for the success of the Arabs in Sindh and its
impact ?

Wwﬂuw%%ﬁwmﬁ%ﬁmmﬁaﬁgcﬂﬁm
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he changes that occurred in the socio-econof Write a short notes on any two :

5. Examine t
ost GYi

and political spheres in north India during the p (@) G
upta art and literature
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(c) Vaishnavism and Shaivism
(d) Turkish Invasion
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Discuss the salient features of Gupta administration.

wwﬁg&ﬁﬁwﬁﬁﬁaﬂﬁﬂl

Assess the contribution of the Guptas in the field of art g
literature. 7
w1 v WRE ® 87 ¥ T uER & qEH HWOAEE,
Eamol

8.
Write an essay on Harsha’s achievements.
g6 = SuaeEAl W U ey forfiaw |
Do you agree with the view that the Chola state wasg-

‘segmentary’ state ? Explain.

ammgaam%w%ﬁ?iﬁam@‘ﬁa@u’ww
T HY |

; : ; ; 0.
Examine the new trends which emerged in society i

economy during the Post-Gupta period.

@mwﬁwﬁm@aﬁméﬁi’fqﬁﬁ%ﬁmwﬁﬁf
S |

Evaluate the important features of Pallava art and

architecture.

_WWWWaﬁwﬁﬁwﬁwww|

Write a critical essay on the tripartite struggle.

feie @ W v e e el

Explain the emergence of the Rajputs during the early
medieval period. '
T4 HAH W TSI h 99 I EReAT Sl |

Analyse the political and cultural impact of the Arab
conquest of Sind.

& | st A fawm @ oSl 9 et wEE w5 e

Write short notes on any two :

- (a) Samudragupta

(b) Tantrici sm
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(c¢) Chalukya Art

(d) Turkish Invasion

foedl @ ™ e oot o At
(3r) WIS '-
(sr) w= -
(3) =g e

(F) T s




{ 9 e PR 8608
(A) Distinguish between moriopoly and perfect competition
- market using .sﬁitable diagram.

(B) Under what conditions a nonopolist would exercise price

discrimination ? j Al 98
k-a-)aﬁﬁwﬁﬂ%mmwwmﬁmrﬁ
. W er # ﬁl‘%‘ﬁ wfaw ‘

(7) o Rt # TS S e w

(A) Explain _diag;aﬁMatiéal]y long-run equi'l_ibfiurn of a firm
in ménopolistic com'pétitipn. Why all ﬁm.l,é in this market
earn only hémﬁl profit in the long-run ?

‘®)  Show with the help of a diagfam the preva'._lence 'of.ex:cess‘
rcapacity in rﬁonopolistic competit‘ibn TR . 105 5 of market adjustment t‘é the c‘lj‘anées

(31) QaﬁlfWﬁﬁ ofirt T @ A T ' ?Pﬁfbﬁﬁ"ate diagrams.

ReCliEIR] foreon IS | 3‘8 aem # iﬁ?ﬂﬁ

£

public provision of pl.‘tblic: goods ?

87
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de takes place between two countries 7 Explain the

ufwar =5 quaﬁ et # weEa W ol
Hifera |
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ve cost advantage theory of international trade, What

main drawbacks of this theory ? i

%ﬁawaﬁ@m%?aﬁtf@aw
1 émmﬁamaﬁmaﬁmuw
F e FE SewhE ¥ 0

What is market failure ? Explain the various instruments of §
internalizing externalities. ' 15

te sﬁart notes on any rwo of the following : 15,75
Trade Barriers

Imperfect information
' hat of de ; u ly in factor market o : Eoph
Explain how nature of demand and supply - ‘Evaluation of market mechanism
differ from goods -me{rket ? Derive the supply curve of the ia
: 3 ' Prisoners dilemma,

labour and under what circumstances it becomes backward

'ff_ﬁawa:wﬁfw&mﬁf@f@q:
) SR g
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(@)  Using appropriate diagram make a comparative analysm ;

of social cost under perfect competition and

{2750 r S

monopoly.

(b)) Define price discrimination. Explain perfect price &

E.
dlscrlmmatlon with a diagram. 9,6 £d

(a)sﬂm%@ﬁaaﬁmﬁwmﬁm@)

(a)ﬁaﬁﬁamﬁwaﬁ%{m@%@ﬁiﬁg
. wEEd & T e fade @ smem st

Define monopolistic competition market. Using diagrams;'

determine the price and output in short-run and long-run in
this market. 13 :;,
i fwv asw A o < et
' e ¥ 3 AR STevEei we S
Fm T Ses faufon S 1

(@) Explain the kinked demand curve model of oligopoly-|

(b) Discuss the price leadership model of oligopoly. 8]

G 8609

| () FER # i i O dre =t se

Fifr '

(GO s S
FIfT )

(@) Exblain ‘the- process of market adjustment when demand

increases and decreases,

ib) What is the role of Government and bargaining in

internalizing externalities 2 What are the major difficulties
of these approach ? : 7.8

(w)nﬁ"nﬁq&qa&rﬁa}wﬁmaﬁ
gfhar =t smEm =i

._(H)a@maﬁ%am&mﬁmaﬁgﬁwam

et F oy ¥ 2w oatw W e
ol - € 2

@ What do you understand by market failure ? What are

\

the major sources of market failure 2

®)  What are the charactgri_s_t_ics.of public goods ? Explain

these characteristics with suitable examples. 96

PTO.



! (@) Define economic rent. Using sultable diagrams explaip

'g@aﬁaﬁmaﬁﬁﬂm

(i, 4o (5

freem & qor W BEEE E
(%) " awel W R w2 g
ﬁﬂw@msﬂﬁma‘amaaﬂhﬁﬁm

' economic rent when elasticity “of supply is zero and:
infinity. | :
(6) Derive the backward bending supply curve of labour,
| _ . 9
(o7) st T ) oo ) ST
ammmemﬁmw@ﬁ
o Y T I R
@) o % 9B A oA W
Eqisid

Explain the theory of comparative cost advantage Of

international trade. Highlight the main arguments in favour of’

free trade. | sl 15 ;
Wﬁmlﬂaﬁwéwﬁﬁﬁaﬁmﬁ -

on any wo of the following
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India and the Indian Ocean Economy,
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: Examine the hypothesis put forward by Niels Steensgaard that

~the Dutch and the English companies were instrumental in

Attempt any Five questions.

All questions carry equal marks (15 marks each).

o o T S w4 7
-ﬁ'mmm%m”ﬁw.

- frdl uim v B s AR

How would you describe India’s position in the structure of

-

In&ian Ocean Trade, circa 1500 when the Europeans too began st India Company (VOC) distinguished itself from

to come in and participate ? ean Companics by integrating “ large-scale officia

W_W%Wﬁﬁﬁ%%ﬂm
o F el o s $d e om g
aﬂ'aﬁaﬁmmaaaﬁ"?

n a ‘highly profitable nétwol*k of intra-Asian

thin its overall trade strategy. Eluc'idate.

ushering in an “Institutional revolution in the organization
and conduct of Euro-Asian Trade” with their joining in from

the early seventeenth century.
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% ; : :

What formed the basis of the effectiveness of the commercija| agree with the understanding that the involve-

ties which bound the Armenian diaspora in the Indian Oceqy > of the socially and politically powerful them-
from around 1500-1800 ? Explain. e act of smuggling made it so much more difficult

tuguese State of lndi_a (Estado da India) to tackle

T9 1500 @ 1800 TF féx TR # omiPrr

T ) e A e w6 S K _
o T T w9 A v o
polization alter the structures of Afro-Asian trade ? What ) @ fau w omR ¥ fwem ok W whe

political pressures in fact compelledlthem later on to turn

FT OF SMER o 7 TS HISU |

Could the Portuguese entry and their attempt towards mono-

for si:lppdr‘t towards the Sam? set of merjc_han’fs of coastalr
western India whom they -had earlier tried to oust ? ime trade. some of them ﬁowgver, saposad Sevors -
G2l W yfafic qor s ww AR ﬁnq} .‘ ons on such trade in 'th,e.ir respective regions in the
nq-qw THE-TREE =R S #® oaed
w0 T W fe o ceel s @

ol e B SR § S wE B oW

Ocean trading network. Discuss. :
¥ Iy “?’j ILE']EE_ 7|7|;i$ & § U =R W TR
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(e mél
: #

Bring out the importance of precious metals in the ]“q
Ocean-South China Sea Maritime complex economy dufiﬂg[

three centuries beginning 1500.

T 1500 ¥ YE BN aen @ vl & g

fix meraT-afewr < AR AR A e
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Part-A is compulsory. Do any 2 out of parts B,
C and D.

W-A s B W B, C 7 D & @¢ 2 %

(A) The following data is given for an economy
for the year 2015 :

g sy 2015 % T s arefayger & R
fFr=fefaT offse Ru o & -

(i)

(ii)

(iii)

(iv)

X purchases used house from Y for
$ 100, 000 and the real estate agent
charges 2% commission each from X
and Y.

$ 100,000 § X' ¥ 'Y & ws

HpH EE g WX 4 X g Y g
2 giqer geh R

Government's cost of providing public
education is $ 20 billion.

e Ren sem owa w oaw
e $ 20 e B =
Change in inventory investment $ 10
billion. '

Fraed Frasr § oRad= $ 10 fafws ¥

A pays a market price of $ 200,000 to
purchase a newly constructed house
in the year 2015.

A, 2015 ﬁﬁﬁa@wmaﬁaﬁ
% o $ 200,000 9T Siea g & |

Government's cost of providing
national defense $ 20 billion.

TG GIET T_E B B G ana
$ 20 fafems B

2

8687

 approach to measuring GDP,
tﬁb,tal contribution of the'
Jic activities to GDP .for 1_;he
Kow government's contributlor;
easured ? ,

Y g AT T STANT HH, T

) h, - : : . . e
ute government's rfet income,
GNP from following data (all

e in billion dollars).

posable income = 1000
payments from abroad = 50 3

PO,
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8687
|| (ii) Write the national income identity i : '

I exports shall be positive if the
R domestic spending is less than
1 national income (Y).

® A F gRx @ FEE
?

national savings in terms of

THIBOT g aer avifzw & g s components. _ 2
(Y) & %9 8| i &% |

(C) (i) What is the fundamental balance of _ . .,
payments identity ? Suppose country A Part
forgives $ 100,000 in debt owed to it by *» &
the Country B, Show how are country A's
balance of payments accounts affected ?3

'__I-i‘.isher effect ? Calculate ex-ante

‘AT Y gHiHTor Far B ? oost real interest rates from the
w9 SfeTe g ZMA_$ 100,000 = =7 | & en below : | =

HI% HICA 8, ST SQ o B @ a7 8, ) gug Fr  ? MY Ru o sifmst @
aﬁsq\amAﬁwﬁqw%@ q TH-UIE arafas e &4 @t

(ii) "A country's current account balance _
equals its change in net foreign W&
wealth". Do you agree? Discuss. 2

‘T I H A @A AT ST TE ey
faRell awafey & aeema & sxR 217 T e o
39 FeHa § 7 e #Y

2013 2014

0.15(15%) 0.15(15%)

(D) (i) What is GDP deflator ? How is it different 0.05(5%) 0.10(10%)
from consumer price index ? How does
CPI inflation overstate the increases in 0.06(6%) 0.09(9%)

cost of living ? 3

4
S P 1.0,
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(B) (i) "What are determined in bond markets

(ii) Suppose that money demand is given

are not interest rates, but bond priceg"
In this context distinguish betweepn

expansionary and contractionary open
market operations. How do they affect
the balance sheet of central bank ang

bond prices and interest rates ? 59

‘o s AR A S PreiRa A ¥ a ¢

®7 39 "o H s 9 dgfEa g

TR SRl % A" 9% B T8 T

a’ﬁﬁaﬁasa%%aaqaﬂzaaﬁ?%w.

=T &0 B BHY gWilke B e ?

by M? =.$ Y (0.35-i), where $ Y is 100.
Also, suppose that the supply of money

is $ 20. Assume}equilibrilim in financial §

markets. 2

H9 e

ZRT & T, Ster $Y 100 B g «ft AiNg

5 a7 @ off 1$ 20 31 g s &
TG o |

(a) What is the interest rate ?
&S &Y R B ?

(b) If the central bank wants t0
increase interest rate by .10
percentage points (i.e., from say 2§
to 12% ) at what level it should set

the supply of money ?
6

AT Mé = $ Y (0.35-),

G

8687

e S §% =T 57 Hr 10 ufyere
forgell (S 2§ 12 ufter) & somy
: ol A

Explain how the demand for and supply
of central bank money determines the
equilibrium interest rate in an
€conomy with currency and checkable
deposits ? Explain using formai analysis
and diagrams. 5
Let's consider a special case where
people hold only checkable deposits
which means currency to mone_‘;
i<31‘~:=111-'stnc1 rati;a (¢) = 0. Assume that
€serves to deposi i @)=

105, posits ratio (g) = 0. é

(8) = 0.1 (10%) sl
(@) What is the value of money
multiplier ? '

. I W g owr B 7

G PT.0.



(b) Suppose the central bank conducts
open market purchase of bonds worth
$ 100 Billion. What will be its impact
on overall supply of money ?

A9 TIRE B S ¥ $ 100 Rites
T % SIUSH N Gl SISIK WO BLar B
ST AT I o G IX T T G 7
(D) (i) Suppose the Government chooses a
constant rate of nominal money growth
and maintains that forever, how much
Seignorage will this constant rate of
nominal money growth generate ?
Discuss the empirical relation between
Seignorage and nominal money growth ?
Explain using formal analysis and
diagrams. o

GSIEGET g 7 ] & 9=
w@ﬁﬁfﬂ % are #X1 fiv=ns
fas q e 1 ST Hh AT BT
(ii) Suppose the Government is running a
oudget deficit equal to 10% of real
income and decides to finance it
through Seignorage, so deficit/Y =
Seignorage/Y. = 0.10. Suppose people
hold real balance equal to 1 month of
income, so (M/P)/Y = 1. What should
be the nominal money growth per month ?

2
8

8687

1T I TR H TSTE greT Frearass
P 10% P FET B T LB T5H
/Y= RFARS/Y=0.10 81 59
% T arafes 99 1 79T & oy

z o SR =Ry ¢
. ow does hyperinflation affect
onomic activity ? Explain. 5

g ? e w1

nd promises to pay $ 100 in one
. What is the interest rate on the
nd if the price of the bond is $ 75 |
d $ 85 ? What is the relationship
ween the price of the bond and
rest rates ? ' 2

e

m-gaﬁasfimzooa%zsramm

“"“?FTB,C,DHEﬁé‘a%s‘sﬁ|

S crowding out ? Explain with
P of a suitable diagram. 3

q TEnEy
9 : PO
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(B)

(ii) Consider the following Classical mode],

BT 9T = 1,000, FE1H AT = 3 g

(i) "In the classical model, a cut in the

(ii) Define velocity of money. What factors’

Money supply = 1,000, Velocity
Money = 3 and Output = 1,500 i
Derive aggregate demand curve frop
the above information and plotit,

SEE = 1,500
SUIRT T @ THT AT T T gy
ww@ﬁaﬁqﬁmaml
geriET | |

marginal inconie tax rate has supply
side effects”. Discuss the abo ¢
statement with in the Classica_l,i.?
model. How output, employment and
price level are affected ? -_:

determine the velocity of money in
classical system ? What-1s th_
relationship between velocity and

Cambridge coefficient (transactions

demand for money to income ratio) ?_

10

Co.nsidér'the foliowing Keynesian
model : L% : %
Full employment output (Y*) = 1,000,

- Actual output (Y) = 1,200, Government
. burchase of goods and services (G) =

200, Transfers (TR) =50 and Taxes =
0.25 v (25%). Compute cyclical
component of b_:u_dget surplus. 2

B THE The (G) = 200, =wgiaxer
(TR) = 50 o &7 = 0.25Y (25%) so1e
SR & THT qe 1y 2 o

SUDPOse  Government L. euts
(autonomous) income taxes : Show in
the IS-LM mode] the impact of tax cut
under two assumptions (a) the
government keeps interest rate

- constant through an accommodating

monetary policy (b) the money supply

‘remains unchanged. Explain the

difference in results. © 5
11 PO,



(i)

(iii)

(anfea) <t 8 IS-LM dfsw &

BT (a) TH FEAT AEH ARy 3

N WK S a9 P R ¥
(b) F&T = gRT SraReciiie et ¥ | 9Rems
g ofaT = =reAr #Y |
What is liquidity trap ? Is monetary
policy ineffective in this case ? 3
X ST Al B PO W Refy #
Aifes AT o & ° _
Consider the following Keynesian
model : ' : _ '
Marginal propensity to consume out
of disposable income (c) = 0.8, Taxes
(TA) = 0.25 Y (25%), equilibrium level
income (Y,) = 600. Suppose
Government decides to:reduce
transfer payments (TR} by 10
(ATR = -:10)."bat 'te. incrcase
government purchases of goods and
services by an equal amount
(AG = +10) (i.e., AG =- ATR). Find :

(a) the change in equilibrium level

of income and
(b) change in budget surplus.

12

5

Frefeifes FRRmE Hfser o R T :

diey ST H & HHiT YT gy (o) =

0.8 %, X (TA) = 0.25 Y (25%) o1 =Hr

YT &Y (Y,) = 600 8| 57 i Ry

T .(A'I"R 1. ameﬂ%Ra%sﬁ- N
=~ 10) g

" B TR T Y T?f;? q

ST =& B (AG=+10) (a79fq AG=-

. ATR) @9 &% : :

(a) o1 B FgeT wR F ggerT qur

(b) 5e enfee § qare

()  Within the IS-LM model of income

de_:-%termmation, explain how interest

rate and output adjust towards

il equl_hbrium in case of :

¥ '-(a) Excess supply of goods and excess

i demand for money

(b) "_EXgess demand for goods and excess

_supply_ of money. How the assumption

qi rapid money market adjustment

af ech the adjustment process.

Explain using diagrams,

L]
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(i)

(i)

What is an investment subsidy ? What
are its effect on equilibrium level of
income, interest rate, consumption
and investment ? Explain using
diagram. 3
Fasr oiga =1 & ? oo omm @
99 WX, =9 8, SuN g PRy
9T N 999 USTR-2 ? B P sganT
TXEH HTEAT FY |

Consider the following Keynesian

model : N

Marginal propensity to consume out
of disposable income (c)=0.8 '
Taxes = 0.25 Y (25%)

Compute the change in budget
surplus followed by an increase in
government spending by $ 10 billion ?
If the initial budget surplus is $ 3.75
billion, what shall be the new budget
surplus ?

Fr=ifeiee Rt dfsw 93 fmr =% -
oY g # F @i s 9gRT (¢) =
0.8 &Y =0.25Y (25%)

14

- 8687

ne determination : |
tion function  C =100 + 0.8Y,

1t function I = 400 - 50i
hases G =500
: ' T=0.95Y

oney Mé=0.40Y-50i"
oney supply Ms= 1200
£ P=o

PR 1S-LM wfest 5t Rrere

=100+0.8Y,

257
M’ = 0.407 - 50;
 M°= 1200

o/ 15 P.T.0.
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Answer the following questmns

Pt oot & oe &

: (i) Write down the IS and T
-equations. Solve the System H‘
equilibrium level of j Income 2
interest rate. B

Hon papér‘ contains 12 printed pages]
Paper = : 8688 GC-4
Ber Code ¢ 12271202

IS 9 LM o3 3 e : B.A.(Hons.)Economics

%%;Wam%mam ICBCE)
& B a . of the Paper ' : Mathematical Methods

for Economics-II

Course

(ii) Find out Bud
get Surplus
Saving-Investment g:;f

corresponding to e i
e 1ncome g to equilibrium leye]

WW% '
eqTfaazr st m#%” =:

- (iii) Derive the values of fiscal and

Sl

our: ‘ Maximum Marks : 75
for Candidates :

te your Roll No. on the top immediately

1}3t of this question paper.
ST BN 9X gRA A 9Y ST

monetary policy multiplier. T AsT

TSR g Az SRy nswer ma be written either in English

o 5 Y MEREE n i_ndiybut the same medium shgould
d throughout the paper.

(iv) If the nominal money supply is ‘7

%%ﬁﬁ a7 o=t fopelt <0t
increased by 100 what shall be. 1 © i: , qHI I Th HINT

the chan ’
e 1ncomeg§ in equilibrium level | e a‘r;:;v% questions in all.
|
= %ﬁ’—m 95T gif 100 € @ tions are compulsory.
S ar E B Hgew WA uss oAfvarg B
FpesT gz B 2 of sunple caleulator is allowed.
T ITENT fHar ST oEwAr B
(4+3+2+1) _ ofa questmn should be answered
16 . g
3800 P | AET W O & e W

B.T.0,
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1. Answer any four of the following :

4x6

.%ﬁﬁ%m%wﬁﬁq

(a) (i)

(11)

(b) (i)

For an

t}l;two hon-zero vectors a and b
prove ’

B¢ = Ao AR a v b B R R

a b ?}“a 3 b”2 = i-”a = b”2

Show that if the set of vectors

Lo o o, ) is linearly independent

and (c,,c,,........,c, ) are any scalars,
then the set of vectors (g 176 A, O

e B A » &y =Cy @) is also Imearly
mdependent

gTsT f5 gfy afgel’ w1 agay
(0 0psennty) &g 'y 2 ofit
(B Coy) HIE SR T ag gt
ST 00 0, G » Qg
Cpp o) A X wEy B

A square matrix of zeros and ones in
whichi the sum of elements in each
row amd each column is exactly one is
called a Permutation matrix.

Show that any 2x2 Permutation matrix

2

8688

‘invertible and find its inverse.
(zeros) QT:T UF (ones) H HIE T
s o dfekT wd a@s @ i
]EBT@"TQ%(one)é’IﬁT%GQ
q A8 (Permutation matrix) &ar
T 8| q=MsT 5 B 2x2 ey oTege
giqeHm ® SR STl g s

‘Show that any positive odd integral
power of a skew-symmetric matrix is
» skew-symmetric.

.Fmd the equa‘mon of the line ‘L’ passing
ough the points P (1,3,2) and
2.5, —-6). Where does this line
itersect the xy-plane ?

> (1,3,2) o9 Q (2,5,-6) & R awht
‘L’% anw Eﬁr ST i | 78 T

= (6) 1:_'5)° .

A a=(1,-24) od b = (6,1,-5) F

S T it |
3 P.TO).
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(d) Consider an input-output model with three
industries A,B and C. Suppose that the

input requirements are given by the
following table :

99 IE AB WS C 3 @ SmE-Prk
mwﬁraﬂﬁthaﬁﬁqﬁaﬁmﬁr@a
mﬁﬁrmwmumé’rns‘%

Industry A Industry B Industry C

SENT A SENT B @EN C
Industry A 8, =0:0 a,.=0.2 a,,=0.3
T A : |
Industry B a, =04 a,,70.0 &, .= 0.5
‘SET B ’
IndustryC = a,,=0.1 a,,~0.3 a,,=0.0
=T C :

1800

~ The final demand is given by a vector 00
: 900

1800
200
900

8688

‘What is the economic interpretation of the
condition a,=0 for alli?

a,=0 & i & R i ol ke = & ?
at is the economic interpretation (if any)
of the sum an+am+a ?

W ArTa, ta, ta, A (!ﬁ ) RS RaerT © 7
i) What is the economic interpretation (if
. any) of the sum a, +a,+a, ?

AT a, ta,ta,, F (TR BE) otk e ¥ ?
)What is the economic interpretation of the
element 1800 in the final demand vector ?

. gifqw AT @Rer ¥ wew= 1800 G?Tﬁfiﬁ

&= R R 7

'Write the Leontief system for thlS model.

39 Aisd & [T Aifes (Leontief) o= faiftam |

[6) Show that the following system of
~ equations :

. Axty+z=1

X + Ay +z=A

R x +y+ Az = o

~ has a unique solution provided A #-2 and

L #1. Find the solution. Explain the nature

- of the solution when A = 1.

| ooirdm s P AR A#2 wF A#1. =W

S T S A = 1 %ﬁrwﬁﬁﬁreﬁr

ml

5 PA.O.
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2. Answer any two of the following : x4
Frafafes & & Bl @ % Sav dvm -
(a) Show that any function x = x (t) that

(b)

(c)

-(X2~y2)gl—2xy=0

8688

S,yeStud Le[0,1] =(1-A)x+ Ay €S
- ORETST F ST ®Id U AT
¢ Pp wafy Peafafes ag@a
2 (Bow @fEs @ IO A% e R) |

- {(xy):x +4y <1

any two of the followmg - 2x5

satisfies the equation (t-a)’+ x2= a2 g 4
solution of the following differentia]
equation : :

q9isy % #E w9 x = x{t) ST i
(t-a)? + x%= a? F HI= HIT o, O FrRREy
QTqHTT THIHLOT H TP & & | :

d : i |
thd—f"'tﬁ -x"=0 oot : cetch the level curves for the following

Show that the differential equation of the
family of circles passing through the origin
and having center on the y-axis is :

ET % g9 % FgE SN 9 g § govdt § B - = at the height k = 0.
Te y -3T81 UX TR B, IHH! STaher BT T i
frefafEa ® - };(ml=y~"—x,aa|€k=ow

# ot

X gxy)=y-Inx a8 k=02 |

A set S in R? is said to be convex if x € S,
y€S, and A€[0,1] =>(1 - 1) x + Ly € S.
Using this definition, verify whether the
following set is convex (A diagram is nota
sufficient answer). -

~ second-order partial derivatives with
1t s?and y = 2rs.

6 7 P.T.O.
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g o 96 fohe (x,g]% for e
:._ . ; .gf’[ﬁ-: q‘i‘ﬂliﬁﬁ ; (ERIIEI) |
- f(xy) =xIn (y*-%).

| SER xy ~AEEE R IO B @ aE |
‘_ } Consider the function f(x,y) = xe¥™*.In
. what direction should one move from
~ the point (2,1) to increase the value of
 the function most rapidly ? What is the

A A z = £ (X, y) SBI X = 12+ §2 a?g\-.f
y=2rs & e & W) Siweh e ¥

R
— o 1T |
P g e 5“«"7 |

I ; (ii) Letz=x?+3xy-y> Suppose x changes

|BE from 2 to 2.01 and y changes from 3 to
2.98. Find and compare the values of

Az and dz. . ; . 5
o SR 2 = X2+ 3 xy - 2 2 x T T & ;n_amm’urn rate of increase ?
2 ¥ 2.01 afakia aar%a?rw FH I AR IR f(x,y) = xe? ™. &I % T #

) Find the equation of the tangent plane
~and the normal line to the surface.

A

| - 3§ 2.98 uREiid 8T 8 @ Az AR dz
I , % g P AT TE TG B | ,
i _ (c) Consider the Cobb-Douglas production
a4 | function f (x,y) = x*y® (a,b are constants)
i defined for x > 0 and y > 0. Prove that fis
| \ concave if and only if it exhibits constant
| or decreasing returns to scale.
| AR FHiore &6 W—E;'IFEH é%o;bb»Dou_gla%mﬁg 2 ,
' % f(x,y) = x*y° (a 3T b s &) x> = 3 TH ;
| AR y > 0% R oRw ¥ | R o 6 1 L
|‘ STaa B aR oK @aw At g8 ReR ar gedl ; - '
i & Y o S S awi B | B S = <yt oY Terg (1, 0, 2) TX

4. (a) Answer any two of the following : 2%6

-_esc_ri_bed by the three equations.

ﬁﬁﬁf@ﬁﬁﬁﬁﬁﬁﬁ%wwi 4 = C+] +G
(i) Find for which (x,y) the following . et oa
a2 function is well-defined (domain): at B (Y-T) (>0,0<fB <1)
| f (x,y) = x In (Y>-X). oY (1>0,0< 8§ <1)
Hence, sketch the domain in the xy-plane: > Y is national income, C
2 ' P.T.O.

8
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2x2—4x + y2>~4y + 1 be defined
a bounded by the straight lines
.and y = 2x. Find and classify

consumption, I investment, G o Public
expenditure and T tax revenue. ‘

Find Z & e extreme points of this function.
o 5 find the extreme values of the
T o Afee & fasafve S Sicaen: on f (x,y).

flx,y) = 2x*-4x + y?°— 4y + 1 d@rh

Wﬁta%%rqasr‘!ugﬁqm C g
0 Ay 2x ET Hife &

S, 1, A9, G, WSt o=@ T 7

ao-{awm%r OREINT T 1 50 B B R sl =
Y=C+1 +G, %Taﬂﬁ%a@ﬁraaﬂﬁmtﬁaﬁﬂx,y)
C=a+B (Y-T)  (a>0,0<p <l T BT BT -

= Lagrangean method to find the
i + 8y

5 e 0N e values of f(x, y) = x2+ 2y? on the
e ) Y y?::]

EI—WEW l 'i"ﬂifwmgqgﬁx“ryz”l

=X+ 2y? % I ! B e |

the local extreme points and/or
ints for the following function.

() \ Which of the following functions are
I homogeneous/ homothet1c ? Give reasons
f for your answers.

f foeafafers & @ #ta-ur wag ggsg . b= i
( (homogeneous) a1 MRS (homothetic) & 7 f X%+ 8y? ~ 5 %2~ 2x - 9y.
() fxy) = ey, oo
(i (i) b (xy)=In (x"/y)), (x#0, y=0).
5. Answswer any three of the following : 3x7
Fefafafaa § O s 9N B IaT G -

10 214 PRO.



(d) A consumer faces the following uti]i.tgsé

e n paper contains 3 printed pages]
maximization problem. - ikt !

Max.U(x,y) = 100 —e*— ¢~ subject to PX+qy=p,
where x > 0, y > 0. Here, p and q are per unit
prices of goods x and y respectively, and m is
the consumer’s money income. 3
THET & GHEAT BT B |
Max.U(x,y) =100 - e*-e7 3% px + qy = m,
Sl x>0,y >0. T p IR q HAA: 957 x
SR y &t 9iY 56 #md ¥ @ m SuEE

Q. Paper :8690  GC-4

er Code '+ 12031202 '

e Course  : B.A. (Hons.) English
CBCS

e Paper : British Poetry and
Drama: 14™ to 172 C

H HAE® T B .
(i) Find the necessary conditions for the R 5
solution of the problem and solve them Hours Maximum Marks : 75
for the two demand functions x = f Bl ‘ :
for Candidates :

(P,q,m) and y = g (p,q,m) by using the .
Lagrangean method. | ¢ your Roll No. on the top immediately
AT fafer = qufl‘TE?{%r.gﬂ;x=f(p,q,m) ‘
Ty = g (p,q,m) HFT Bl & fog &
Td & & foTg efrasees il 9
SRR -
(if) What happens to the optimal values of
x-.and y if per unit prices of both goods.
and consumer’s money income aré
doubled ? s
X 3R y %I g5aH (optimal) Feai d i
ST 81 sy ?

12 3800

er 1pt all questions.

short notes of the following : 10x3=30

OR

1Ser’s “One day I wrote her name....” as

PT:O.



' . 2. Macbethis a play about crime and punishment.

! 8690 8690
(b) Role of Mephostophilis in Faustug’s .s are central to the plot of Twelfth
damnation j t. Discuss. 15
OR 3 OR
Concept of ‘heaven’ and ‘hell’ in Doctor ) is “ A Renaissance man who had to
Faustus g
1 medieval price for bemg one” (RM
(c) Sir Toby Belch 3 ‘omment on faustus as a tragic hero
t of this statement.
OR .
The apparitions that witches show to

Macbeth

do you agree ? Give a reasoned answer. 15

OR

Do you think fhat Macbeth is a victim of his
own ambition ? Or do you think there are other
factors contributing to his downfall. Elaborate,

3. Do you think Spenser follows the Petrarchaﬁ
conventions of love poetry. Give a reasoned
argument. 15

OR

Comment on The Sunne Rising as 2
metaphysical poem. :

2 3 3900



on paper contains 3 printed pages]

. eq 2 sessasee ssvscssesssdece
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ser Code  :12031202

he Course  : B.A. (Hons.) English
e Paper : British Poetry and
- Drama: 14™ to 17® C
10

ours Maximum Marks : 75
- i

1s for Candidates :
ite your Roll No. on the top immediately
rece 1pt of this question paper.

-,.;Et all questmns

10rt notes of the followmg 10x3=30

W’lfe of Bath on marriage

R OR

e;r ’s “One day I wrote her name....” as
iet '
P.T.O.
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(b) Role of Mephostophilis in Faustus’s ses are central to the plot of Twelfth

damnation . Discuss. : 15
OR OR

Concept of ‘heaven’ and ‘hell’ in D : L

Fausttlj i ‘ Sclons s is “ A Renaissance man who had to

‘he medieval price for being one” (RM
ins. Comment on faustus as a tragic hero
light of this statement.

(c) Sir Toby Belch

OR

The apparitions that witches show to
Macbeth

2. Macbethis a play about crime and punishment.
do you agree ? Give a reasoned answer. 15

OR

Do you think that Macbeth is a victim of his
own ambition ? Or do you think there are other
factors contributing to his downfall. Elaborate.

3. Do you think .S‘penser follows the Petrarchan -
conventions of love poetry. Give a reasoned
argument. 15

OR

Comment on The Sunne Rising as a
metaphysical poem.

2 3 3900



n paper contains 4 printed pages]
Paper : 8689 GC-4
Code 12031201

. Course :B.A.(Hons.)English (CBCS)

Paper  : Indian Writing in
- English

2 11

 Maximum Marks : 75
for Candidates: ‘

your Roll No. on the top immediately
ipt of this question paper.

Ul questions.

s No. 1, 2, 3 are of 10 marks each.

on No. 4,5,6 are of 15 marks each.

SECTION - A

yrt note on the geographic and
etting of Mirpore in Anita Desai’s

P.T.0.
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gmnon paper contaiﬁs 3 printed pages.
3 : Your -Boll NO. .ccacisissssasisiivsensss

| Papen 8721A GC-4

de :12311201
. Social Formations and Cultural
Patterns of the Me_dieval World -

11 (0Old Course) ‘
: B.A. (Hons.) History (CBCS)

OR

“No woman in Anita Desai’s novels ... hag been
fortunate enough to free herself from the
shackles of femininity.” Comment on the

author’s portrayal of women characters in the : 1I
novel In Custody with reference to this -+ 3 hours
statement. :

ks =75

“... it is difficult to see how they (Indian poets
writing in English) can develop as poets in a

language which they have learnt from books
and seldom hear spoken in the streets or even
in their own homes.” Do you think Indian
English poetry captures the “authentic” Indian :
reality? Explain with reference to the work of
two poets you have read. ‘

rite your Roll No. on the top immediately
on receipt of this question paper.)

1Swers mdy be written either in English or in

ndi: but the same medium should be used

hroughout the paper. :

- 59 §vUT &7 IO AW A fe<t A o
OR 9T 7 AfIT AfeET §9 IO FT AT & &

Discuss Nissim Ezekiel’s “Enterprise” as a - & afET

journey, a search for home, of both an

individual and a community. . Attempt any four questions.

~ All questions carry equal marks.
 fl WR g F IR AT
W TR ¥ o g E

Write an essay on the colonial education
system in Swami and Friends.

OR

What is the significance of the title of Mistry’s

story “The Swimming Lessons” ? the nature of social struggles that

~ the period of the Roman Republic

* 3908 PO
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. “.' 1w did Cht istianity influence the social and cultural
l?;v:,f Europe? Discuss.

QHT{ gf 3 A9 % WIS T WiEHfaE St B3]
ﬁfﬁT e Senraa feRan 7 ==l e |

- How far did the process of Pax-Romana (Romg
peace) contribute to the establishment of order gy
stability in the Roman Empire? Give reasons.

et @ Wi # S 3 A g g
g @ ford R W A w v dmh
fean ? faem =ifsm

1 Account for the emergence and success of Islam
'H'ﬁefcre the Umayyad Caliphate.

Sue faeThd (@ S5 o IEHT Td dherdl o TR
Waﬁﬁﬁﬁ%ﬂwﬁmi

. Analyse the role of slavery in ancient Rome.

T AA F -9 R R S favdme i

- 8. Write short ﬂotes on any two of the following:

(a) Roman Senate

(b) Julius Caesar
- Evaluate the important developments in thef

emergence of feudalism in Western Europe. 4
ofedl U9 & Amaare & Soud § Wl T A
FT iR shife |

(c) Crisis in Feudalism
(d) Abbasid Caliphate.
e & 3§ ol @ W wifera feoft fafee

(a) I diae
. Assess the significance of the growth of towns and .

trade in the feudal economy and society of Wester ¥ (b) S wisw
Europe between 12th and 13th centuries. L - (c) " dehe

12 & 13 wd F wer wfed g @ W@ () SRR e |
SfeTaE qo T W wEd ek smuR ¥ e )
HEwd & ATHeA FHIfAT |
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(c) Attempt four que estions in all.
P =AW 9 B T I AT

(d) All questlons canrry equal marks.
gt g9t & of 5w ¥

an essay on the Kushana and
tavahana polity.
uq graared 9" Eedy] 9X UH ey

Critically examine tlthe Mauryan economy op eview the debate on the problem of urban

the basis of availablele sources. cline, with reference to trade, currency and

Wwaﬁ%eﬂwwﬁﬁaﬁmwaﬁ
STEEARES THET SSHSR™E |

ban settlements from 4™ century CE to 7%
ury CE.

STETEE] ST @ WIadl TSy S99 9% 91T,

gUTel oF 98 IR B et § gl aew

ST 9 o W@ [ Y afer i

Describe the nature = of social stratification in
terms of varna, jati, a and gender differentiation

from 200 BCE to 3000 CE.
200 sE9E & 300 E gudt 3 S aof, s @
e & &= o amries wier & @ed @
ol HifsTg |

ice the growth and development Puranic
stic cults during the period of study.

g F IR AR gsEward) get @
- I $ ERET =
Describe the featurares of Asoka's policy of 3 a4 Iy |

L he .
Dhamma and evaliluate its impact on t an_essay on important features of Pallava

halukya art and architecture.

I B SR Tae 5 g [Qrvarei
FIETET%I%Q|

downfall of the Maurn ryan dynasty.

exsﬁasa%aﬂ?ﬁﬁf%f?@waﬁaﬁraﬂﬁfﬁm
o A ToES B U qX = weE H T
HIFT |

22 3 | S o
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8.

Write short notes on any two of the following .

%ﬁ%ﬁﬁﬁ%@ﬁ%ﬁ%%mﬂm.

(a) Mathura and Gandhara Art
YT T AR He

(b) Varnashramdharma and Samskaras
gote o9 Ud GRIEN

(c) Sanskrit literature
& T7Y

(d) Begifming of Tantricism

qies g9 B S

@

No. B e o .
g--ﬁ:fQ..'Paper : 8695 © GC-4
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of the Paper  : Hindi Kavita (Reetikalin
: ' Kavya)

]
3 Hours  Maximum Marks : 75
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(@) o9 =i Framed, s @i af gy
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W G e R AW Ay e
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(T iy

(1) " gorT o HU B e 7 R sk
: AR

aﬁ%ﬁreﬂwﬁﬁ%ﬁvﬁ@m’@g
|

TF fam #Ht TF TR Al orw @ EﬁZéZj
el

& sweTeE e & fea wrary [ 28
(evig &1 fadT @

(F) A0 AT 4T &Y, T AR A5
ST O B FE W, W@ oeRa giy d
T I e FEH, JRa wge foe A
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?

i
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T
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§.No. of Question Paper : 87224
Unigue Paper Code 12311204 .
ae of the Paper Social Formations and Cultural Patterns

of the Ancient and Medieval World

(New Course)

Name of the Course B.A. (Hons.) History, CBCS (NC)

Semester I

Duration : 3 Hours Maximum Marks : 75

(Hrite your Roll No. on the top iminediatel on receipt of this question paper.)

(w-m—wﬁﬁaﬁﬁwﬁqwﬁﬁﬁhamwmsﬁm%ﬁm 1)

Note :—  Answers may be written either in English or in Hindj:

but the same medium should be used throughout the

paper.
femofy =3 -5 &
| 4 i Sife
=few | ‘

Attempt four questions in all,

SW ST A few et T gy
Hﬁaﬂﬁaﬂmwwwﬁ?ﬁ

(R 0=l

4000

Al questions carry equal marks,

%Wwﬁfmwﬁﬁmn

e
Tl

PLO,
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Discuss the developments of ~political institutions in Atheng .

and Sparta.
qﬁawm'ﬁwﬂﬁﬁﬁwﬁ%ﬁmﬁw
it |
Evaluate the role and sfgniﬁcénce of slavery in Ancient Greegef

and Roman economy.

mﬂw@ﬁnﬁaﬁmﬁwaﬁ
#n Tem @1 HediEA Hieel

Examine the factors responsible for the decline of the Roman hort Bt
: i On any m

r ) i 0 of the follow;
Empire. r eek Culture Owing :

ﬁnw%qﬁﬂﬁwﬁmvﬂmﬁml ‘Romang

Examine the important developments in the transition from '8lon and Cultyre j, Mmedieval | :
' val Europe

slavery to feudalism in medieval Europe. anization and trade

in medieval A
ﬁ fopest rab world,
3 &R Har oo

| ﬁr—rmaaﬁﬁam
mﬁﬁﬂ?{ﬁq T ; m e

TeqUt foT W I Fif
‘What was the impact of towns and trade on feudal ec@

in medieval Europe ?

HEAETAE Y B et s W AR ST &

WWHW‘]@_T?

L]

4,000
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(c) Attempt any four questions. l-t_he socialist revolution affect the

st | 9ot & s=7 ¥

urope ?

(d) All questions carry equal marks.

wgﬁ%aa‘asmw%r

1. What is Globalization ? What is its impact on

developing nations ?

l%szﬂwww%?ﬁmsﬁa@www

IHE gST & 7

extent the feminist movements has
1 in achieving the goal of emancipation
len ? Explain.

T % SRe A Wi F ArEe sdest 3
T Fe H 7

2. Write an essay on the United Nations

Organization.
TR ST 9 T ey farfgw
3. How did superpowers rivalry affect Afghanistan ?

el W ufEfzar ¥ s @ 59
TR gt fapar ?

3 PT.O.
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8. Write short notes on any two of the folIowing ,

Prerfe & & Rt & o A Rt Ry,

(a) Colonialism
EEIECHECICY
(b) Cuban Missile Crisis

FEr PraTge dehe

(c) Digital Age
fefsres gn

(d) Consumerism
IUAIERIATE

(e) Disintegration of USSR

aifeaT 99 = e

100

paper : ‘9452

. 12135908 GC
Indian Epigraphy and Paleography

'se ; B.A.(H)/B.Com.(H)/I'S.Sc.(H) Sanskrit
CBCS (GF)

v

Maximum Marks: 75
' No. on the top immediately on receipt of ‘this question paper.)

e @ TR frw o Feifa @ woe spEE e )

T AEYAE T B W, YE-UF & ST HEhd
} ST w1 HeTH TE @ e =nel|

s otherwise required in a question, answers should
itten either in Sanskrit or in Hindi or in.English, but

same medium should be used throughout the paper.
ety arfrerd T

- Al questions are compulsory.

P.T.O.
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gus ‘&’ @ug ‘@
: : (Section B) :

75 & IR W fora g a‘? B
; T | 124

y types of Inscriptions are there ? Explain on the

(Section A)

Wm%aﬁaﬁ@ﬁaﬁhm
W yeEE e

Throw light on the Administrative officers described in the

Ashokan inscriptions, subject S

gan

] on
wﬁmwﬁmé@m|

- note on antiquity of writing in India.

# Hew W YER S 12V

(On)
e aeE § sfwd & el us F e R
@ﬁwm%?ﬁmaﬁﬂﬁml '
Describe brief, what is the significance of ‘Dharmma’ :'i

the modern world as discussed in the king Ashoka the importance of Inscriptions.

Inscriptions. SIOET
.mmﬁmﬁmmﬂwaﬁmﬁr@ﬁ"’ " )
ol i 5 ferel oy ded Wl W wERT S

: : ‘ , asis of . : ; il
Describe the achievement of Samu.dragupta on the b ting material used in the inscriptions.

Eran Inscription. oz ‘7’
i (Section C)
©n ® Safv & foash ﬁmﬁl G

=1

el e sfr w1 o dan A TS e i

Write the summary of Meharauli Iron Pillar lnscriptlmj‘ ign origin theories of the Brahmi Script.

brief. i
PTO.




" made in the field of Epigraphy :

9452

(v TrvER dEs siEm

joalny is question paper contains 2 printed pages.]
ol Your Roll No....cocoavnneee
' Ses ) P 8818 GC
o= . of Question Paper :
i fafrdl & o & Thiem #7 were Yo. of Q
HIfST | e Unique Paper Code : 11015207
Evaluate the history of the study of ancient ln‘d’ Name of the Paper - Photography (Generic Elective)
SEeaphs: e of the Course - B.A. (Hons) Journalism, 2017
(CBCS)

Semester . 11

i,ﬁ ation : 3 Hours Maximum Marks : 75

Explain the tradition of Indian dating system.
- i

aar

‘

structions for Candidates

Write your Roll No. on the top immediately on receipt of
this question paper.

(On) |
Frafefen & & fret @ gm Rl # 4w d R
T AREH W Hfgw feoit fafew - 4
» T5&g
(i) T
(i) . " "R

Attempt all questions.

All questions carry equal marks.

Trace the origin of Photography and describe its journey
upto the present digital era. (15)

Write short notes in any two of the following on the contributi ' OR

Define Photography. Explain what is Camera Obscura.

()  Princep
(i) Cuningham Enlist the important accessories used with a camera.

Discuss their use in detail 15
(#i)) D. C. Sircar detail. (15)
(v) G. H. Ojha. : OR
- How does a camera work ? Explain with the help of a

diagram,
i P.T.O.

< A
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_ Your Roll No...............
3. Explain with the help of diagram a three point h'ght"*
up for a studio portrait shot. Explain the effeqt of
light.

estion Paper : 8724A - GCd

- Code : 12321202

OR
What is the importance of lighting in photography ? Dige Paper + Political Processes in India
the different sources of lighting used in photographﬁ_' e : B.A. (Hons) CBCS
4. What is photojournalism ? What are other branches 2 1 | .
photography that come under the ambit of photojournalis _ '
3 Hours Maximum Marks : 75

Explain with examples.
OR - (Write your Roll No. on the top immediately
on receipt of this question paper.)

sports photography, nature photography and why ? (39 T -v7 @ e & g R v

'Tﬁaﬁ?awar#maﬁmar’%w
5. Briefly explain the salient features of any one photo & - )
software,

ers may be written either in English or in Hindi; but the
e medium should be used throughout the paper.

OR
Write short notes on any three of the following:

(2) Shutter Speed _.
" ‘-.-;%m#aa?}‘avmwms‘?aha@vt
perture ,

(c) Photo Feature Attempt any four questions.

All questions carry equal marks.

T OR 7 & gew SR
W g B s g

(d) Rule of Thirds
(e) Cropping

(f) Profile of three famous photographers
P10,
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1. What do you understand by “Congress System in g 7 crmcallv analyze the impact of caste in India Politics.

What were the reasons for its decline? Discuss,

Wmﬁ%aﬁ @ UEl @ Ao R S
“Wffﬁawﬁi”%mwmﬁ%%?mmé
RO F7 R i

§ Examine the issue of affirmative action policies in India.

Do you think they have proved Healthy for Indian
democracy?

WA ¥ FERIR HRATS A @ AL Gqe Ao @ e
AR ¥ 3 WRAE WwaT @ fow wraads Re gy B0

2. What are the contemporary trends in the voting behayyd

of India electorate? Discuss.

wﬁam&ﬁ%wﬁrmﬁmﬁﬁww#-a
e s

1. ‘Globalization has changed the nature of Indian state’.

3. Discuss the different stages of federal reorganizatisf Comment.

states in India. Has it satisfied all the regional aspiratieh
India?

AT T R T A oTER wew @ 2 Rood Sk
Wi ¥ T ® W e B R o R A

W TET ARG H o S srmE @ g A B

Write short notes on any two of the following :

FefRm % ¥ Bedf @ W ahre P R

4. What do you mean by “Secularism”? Discuss the

(2) Communal riots ; ‘
debates on secularism in India. al riots in India

uﬁﬁﬁm%mw_wﬁ%?wﬁuﬁﬁﬁwﬂﬁ"ﬁ RS ¥ wirah w9
e Aifig

(b) Electoral reforms

2
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(¢) Secularism

BEEEER]

(d) Bhartiya Janata Party

I S E

h paper contains 4 printed pages.]

i

Your Roll Nouaisviis
on Paper : 8724A GC-4

Code : 12321202

per . Political Processes in India
Course : B.A. (Homs) CBCS
: 4 :
urs Maximum Marks : 75

vite yaﬁr Roll No. on the top immediately
on receipt of this question paper.)

(38 w7-77 F ferd & W Ry 7
BRI W s sEEE )

may be written either in English or in Hindi; but the
dium should be used throughout the paper.

- H IR JAG a1 B fEeR vE wmor
ST Wi IR F AT T & B WY

Attempt any four questions.

-

,- All questions carry equal marks.
o7 A% g @ IR A6
it g @ HF wwT 8
P14,

PpU——
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1. What do you understand by “Congress System in e the impact of caste in India Politics.

What were the reasons for its declide? Discuss,

¢ i ® T T e i
“yre ¥ HEE IO ¥ Y M TEW TP IS ume
Fror A7 fFEEE S ikm ue of affirmative action policies in India.

k they have proved Healthy for Indian

2. What are the contemporary trends in the voting b

of India electorate? Discuss. frs AR & W qﬁw I
YR A B A SEER ¥ e agi S 7 ST & fv wrmEads Re W R

e Fifw |

n has changed the nature of Indian state’.

3. Discuss the different stages of federal reorganization
states in India. Has it satisfied all the regional asp

) s T D T T @ R A
India? €
w ¥ wed @ @ et @ R T @ R

T W A W B s @ wge R A

otes on any two of the following:

4. What do you mean by “Secularism”? Discuss the &

debates on secularism in India.

gfReET ¥ mw@%?wﬁaﬁﬁﬁmm
e R '

PO
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(c) Secularism
DU IEER

(d) Bhartiya Janata Party

WS weEr

contains 4 printed pages.]
Your Roll No....cvesenee
per : 8723A GC-4
| 12321201

Political Theory : Concepts and
Debates- k

B.A. (Hons) CBCS Pol. Sc.
II

Maximum Marks : 75

pour Roll No. on the top immediately
receipt of this question paper.)

ay be written either in English or in Hindi; but the
m should be used throughout the paper.

i@ @it SRl @ AEAT T & s ey
 Attempt any four questions.

uestions carry equal marks.
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Write a critical essay on the negative and positive conegpty Discuss John Rawls’ theory of justice in the light of the

of liberty.
A B AENH TF OIS FAURA T AATHE 3.
forfem!

RS TE eI A # g ¥ W I & e &
W T S '

Discuss the importance and limits of the freedom of speechfif Explain the concept of human rights. How does ‘cultural

and expression in a liberal democracy. 30 relativism’ affect the universality of human rights?

AT FRER N FIUROT S A WO A e’ B
TR A SRR A A w gt R 87

Critically examine the concept of ‘equality of resources” asg e'."‘B"valuate the debates on capital punishment.

advanced by Ronald Dworkin.
y R Re W fHEE @ T #i

e @ g UfORe HEeRl W Rl Gl STEURT Gy

AEATHS JUET SHifog

Write short notes on any two of the following :
How does affirmative action promote egalitarianism IHiS FFifefer % & foresi q W EfErg o fofew:

society? Explain with suitable examples. -
(a) Idea of political obligation to state

T 27 IugEd IS BN WA Sl T & gy weriftE e’ W fEEw

Capability approach to equality

2. T.0.
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GAHET T W SR
(¢) Global Justice

Maw =@

(d) Three generations of rights

SRR e R

Paper Code : 12101202
of the Course’ : B.A. (Hons.) Philosophy

A CBCS
‘ of the Paper : Ethics
jie_w 20
3 H-oi:rs Maximum Marks : 75

structions for Candidates : '
/rite your Roll No. on the top immediately
n receipt of this question paper.

T9T-UF % WIS 8 9X g iy 9x v
I HeY ford |

Attempt any five questions.

[ 4 st & Sox Sf
A".-'._1"1-q‘-‘lestions carry' equal marks.
I U891 & 3fp 9= B

PT.0O.
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(d) Answer may be written either in Engl
or in Hindi; but the same medium sho

be used throughout the paper.

¥ em =nfRa)

justifications.

ﬁﬁwﬁﬁ%mm-ﬁ%%?ﬁ%@ﬁ

I |

Discuss with reference to

Nicomachean Ethics.

FEET 1 ARHT T ST T TEIA € 7
ﬁaﬁﬁ%ﬁmqﬁw%ﬂaﬁﬁﬁawa%ﬁ‘m'

2

wuﬁ—ﬁﬂwmﬁﬁﬁm%ﬁﬁwﬁﬁr
o T & S, AfET T SO O & W

What do you understand by virtue ethi ‘ ik

Aristot ‘

L1115
]

4.
| Categorical Imperative. How. Categorical

8705

«[t is better to be a Socrates dissatisfied than

a fool satisfied; it is better to be a human being
dissatisfied than a pig satisfied”. Discuss with
reference to Mill’s Utilitarianism.

o oreigee g A dge T @ R Y,

o o Ag B T €Y R H SE
%”lﬁa%aﬂﬁmﬁ%aﬁﬁﬁaﬂmaﬁﬁﬂm

Examine Kant's conception of moral law as

Imperative is different from Hypothetical
Imperative ? Discuss.

Hve B POy omy $ ARk FEH aﬁ SN
o T SR B T PR oEe WeE
Ry & Bt & ? e ST

Examine Bhagavad Gita’s e'thics of
Niskamiakarma. Explain whether it is a form of
deontological or teleological ethics.

wEgar $ Ak e frepEEs & R

BT | e e gRoTE Qe =GR e
s fera & 2 e #HiN |

3 P.T.O.
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(d) Answer may be written either in English
or in Hindi; but the same medium should
be used throughout the paper.

TH 999-UF H IO Ul ar B Reh o
u AT F AR, JAfET O oux uw & ey
7 8 =fen |

1 Critically discuss the salient features of the
pre Socratic philosophy.

q\af—gam?ﬁ v & U Rfare =
SIS == IS |

»

OR
ST

‘Early Greek thinkers were really doing natural
science’. Discuss.

P W F | faE=r S

2. What is the nature of reality according to
Parmenides ? How is it to be known ?

URAIRAEE & STga o< & ©e9 &= e 54
HY SET ST Gehar B 7P ‘

2

8704

OR
Hergn

& olain the doctrine of flux in Heraclitus. What
s the significance of logos’ in his philosophy ?
e B TE @ R e B
5 oo § ‘e @ HoW FS 7

J’w iscuss the philosophical doctrine of Socrates

contra the SOph1st

OR
AT

| ‘Man is the measure of all things’. discuss.

Wwﬁﬁwm%lﬁaﬁaﬁﬁql

r How does Plato show that a just man is happ1er

" than an unjust man ?

ﬁmmaﬁ%ﬁsﬁwaﬁﬁ@
S stk & v gE § 7

3 P.T.O.
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- OR
- oTErET

Examine Plato argument that the individual

_has the same virtue as the state.

(a) Nature and change (Aristotle)
SR T oRed (emeg)

(b) Virtue is knowledge (Socrates)

ST & e ¥ (geH)
(c) Censorship of poetry (Plato)

BT I e ()

-~ Write short notes on any two of" the following :

Frfees & & Rl & o il Regeht frfere -

[This question paper contains 4 printed pages]

.
2 PRS0 RGFRNONPRTRERIDEY

'Your Roll No.
S1. No. of Q. Paper : 8707 GC-4
i Unique Paper Code :12111204

: B.A. (Hons.) Psychology

' Name of the Course '
(CBCS)

: Psychology of

. Name of the Paper )
1 Individual Differences

Semester . 21 _
Time : 3 Hours Maximum Marks : 75

Instr;:ctions for Candidates :

v(a) Write your Roll No. on the top immediately
on receipt of this question papér.
sﬂﬂﬁ—ﬁ%m@%ﬁfﬂaaﬁéwm
de AT R |

(b) Attempt all five questions.

T Ofw g B IuY g |

1000 -
2T,
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(c) Answer may be written either in English
or in Hindi; but the same medium should
be used throughout the paper.

T A¥-99 @ I9Y ofdeh R Red o
T |9 7 i, ém$#=aﬁraﬁrQﬁiéTawn
# am Em%':{]

1. Explam the concept of Personality. Discuss the
influence of cultural factors on Personality.
' (5,10)

W%Waﬁmaﬁ‘laﬁm%w
IR Fipiasw TgHEl B0 goie &1 |

OR
STerEr

Define Personality. Critically examine any one
approach to Personality. :

aﬁmaﬁmaﬁ‘raﬁm%ﬁﬂﬁ%w
P ST AETATTS €9 o B

2. Discuss the cognitive approaches to
Intelligence. . 15

ghE B AFFIHE SIFH B == BT

2

8707

OR

FTerqr

Examine the-interaction of Heredity and
nvironment in Intelligence.

i Discuss the nature of Self ahd Identity in
Indian thought. (15)

aﬁtqﬁau%wa%mﬁaqﬁa&aﬁ
AT FR |
OR
S{eEr
‘Describe the varied features explaining the
| nature of Selfhood in the Indian framework.

Hﬁ#ﬁmém%a%wﬁrﬁmmaﬂﬁ
ﬁﬁwm@aﬁwﬂﬁal

“Self-determination theory focuses on
distinctions between intrinsic and extrinsic
control of motivated behaviour”. Discuss. 15

g e & G et uX sieg ®7 ) gol+

> 8" P.T.O.




OR
AY4GT

Theoretically examine the domains that foster
Creativity. : 15
w9 q A
Write any two short notes from the following :
' . (7.5, 7.5)
Prafofag & & B @ & o dftra ool g
(a) Cognitive perspective of Personality
(b) Extremes of Intelligence:

gfs &t ==e G
(c) Culture and Self

Hrepias ol e
(d) Self enhancement

aTH e

4 700

[This question paper contains 7 printed pages]

Your Roll No.

.
-------------------------

Sl No. of Q. Paper  : 8706  GC-4

Unique Paper Code : 120111203

Name of the Course : B.A. (Hons.) Psychology

(CBCS)
Name of the Paper : Biopsychology
‘Semester + B

Time : 3 Hours Maximum Marks : 75

Instructions for Candidates :
(a) Write your Roll No. on the top immediately

on receipt of this question paper.
s S & oI @ % gid o 6 T
REIECIANICER
(b) Attempt all questions.
& Ut & IO &l |
1 All questions carry equal marks.

qf =  ofw wHe B

PTO.
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2. With the help of a diagram describe the basic
structure of a neuron. discuss the process of
communication withim a neuron. (5,10)
Yar R & AEeEE § SR H e SRl
SRR & oY W@ONY & E|Ed frx ufewar @
gofq HIfeT |

OR
AT

Explain the structure of synapse. How synaptic

transmission takes place ? (5,10)
G- W HLET L A Hifor | SfcrRiEs
T=eer fRG 9K S B

3. Discuss the structure and functions of spinal

cord. Name various cranial nerves and give

* their functions. (7,8)
e O $ A ST e R |

3 PLO.
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5. (A) Define any Five of the following :

2x5=10
FrafaRes & et e & aftamn fafeg |
(a) Blood-brain Barrier

=e §9 afEx

(b) Meaninges of the Central Nervous

System
(c) Myelin sheath
AR SEReT
(d) Negative-Feedback mechanism
(e) Melatoni.n
ESIEIEE
(f) Neural Degeneration
XA SR

5 PTG
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(e) Thyrotropin releasing hormone is

secreted by ......... ; _
o I BT AR B e o

700
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(g) Serotonin hypothesis
(B) Fill mthe blanks :
Rea &=1 & gy &

(a) Neurotransmitters are released by

(5x1)

............

NEeUurons.

TR B B

(c) Glucocorticoids are released by .........

sta-eardt et aifegs s e 8
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OR

sTerar

Tabulate the anatomical subdivisions of the
nervous system. Describe the functions of the
four major lobes of cerebrum. (3,12)
SIEEIRSERCY Qﬂfiflﬂ ofrTeE @t arelies B |
ey $ AR W@ ES @ TERTAT T T

4. What are the general characteristics of
endocrine glands ? Discuss the functions of
thyroid and adrenal glands. (5,10)
w.wﬁaﬁﬁﬁwﬁmw%w&?
ﬁ_ﬁ?a?ﬁqﬁﬂ(@ﬂa)%maﬂw
I |

LAl

Describe the role of hormones in behaviour

with special reference to any two endocrinep

glands.

et &7 ot wd et & fagw e A

F oifeer el (ﬂﬂ)ﬁgﬁﬁﬁaﬁﬁw
4

%

‘*]""“
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(d) Answer may be written either in English
or in Hindi; but the same medium should
be used throughout the paper.
TH UeT-95 W IOX Sfdelr ar D R O
o A § S, AfeT i SuT uw & 9
F 8= =nfeu o

1. Discuss the subdivisions of biopsychology.
Name the methods of biopsychology and
explain any one method. (5,10)
Hrg FHIET % IUfEErS (subdivision) 1 RET
Fiftm | o wfsT= & fBfEh 3 59 [’ o
fepeit wep fafer @it =memr &%

* OR

SHEET

Explain the nature of biopsycholdgy. Discuss
genetic studies and stimulation methods of
biopsychology. (5,10)
ot sIfasTe St Tegfy aargy | ergaities B SliT
oo Rt = REEer St

3 i
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paper. _
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Attempt A4/l questions.
b All questions carry equal rﬁarks.

Wit g @ I AR

W g B ol wER ¥
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Discuss the six major themes that iinpact adolescents’ lives ag
=

they prepare to face the future. 15

ufysr o WA wE B AR @ SO gA-sied
S B g fawa guifoa @ €, ST == Wit

(}’.
(317

Discuss the ways in which ‘youth’ has been defined. Exa@r}ne

the role of family and educational institutions as significant '

- context-of socialization. 6+9
‘g’ ) R <R o IR T S ST | FESE
% Aol wedl ® w9 # ufar ofw dfees wearE
# i W@ St T ,

" What is meant by Youth Culture ? In the era of rapid giobalizat_ion
how has youth been influenced by the growing consumerism

and information technology ? S+IO

To-weph W o Haes € 2 o S & grr
# mﬁﬁaﬁlﬂ 3R o STt 1 g | F T
wWE?
A
(7=
-Des'cribe the different types of attachment styles between parents
and children. What are the common sources of conflicts and
‘tensions in the family ? (:rg’
m~ﬁmaﬁtaﬁ?ﬁaﬁam—%ﬁaﬁﬁﬁmm
& FUH FHY | afar § @od iR wEE @ S @
F E € ?

el 8772

What is the meaning of health to adolescents ? Discuss alcohol
use as a risk behavior for young people. 5+10

freidl & fou wrey &1 @k 70 ¥ 2 3ot & fou
% SifgR-=9o8R % ®9 H YA & FIAM H ==
Hifee | :
Or
(3regEn)
Discuss the status of education in India with special reference
to youth education. 15

@ﬁm%ﬁmmﬁﬁmaﬁﬁw—ﬁwﬁm
=g HifT |

What do you mean by positive youth developmem i
Highlight the relevance of fostering resilience for youth
development. ) 5+10

wERE o foewra @ da ¥ 2 gan faww @ fae
ey gwan (afaog) ) g 3 H gRiwa W
yaTel eifee

' or

(arera)

Describe denial, repression and negative self-schemas as

~means of self-deception. Explain the concept of hope and its
_development 5+10

mwaﬁwﬁm = IR TR ST
1 59 Hifaw |m¢%mumaﬂtﬁmmmh

e |

P.T.O.




Write short notes on any fwo of the following :

@

(i)
(i)
(iv)

frafafen § @ el & w dfem feordt fafemn .

@

i <

Attributional retraining for optimism

Erikson’s views on identity

Loneliness and jealousy in refationships

Risky sexual behavior.

e % faw Auor A-wfdem

() T W o ® fae
Gy R § emere s g
(v) THeHd dH HEER | -

o
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All questions carry equal marks.
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oRay | .
@ﬁﬁmmﬁf%aﬁ%m

|} Ty D 7 g T
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~
=TT |
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Trace the historical evolution of the concept of family from

pre-industrial to industrial societies.

T - Sl ¥ SN T ao R A FrerT @ Wi
Jgfdew = @i S

How do comparative anthropological accounts expand our

understanding of marriage ?

eI AT semae fAaw @ A @ By yer ek
TP

How does homosexuality reconfigure notions of family and
kinship ? '

mﬁﬁm,qﬁansﬁraﬁa&ﬂmaﬁaﬁéﬁgﬁ%ﬂiﬁﬂ
27 '

Sociologically analyse the parent-child relationship in the

Indian context. Illustrate with suitable examples.

wn%ﬂum%fw—ﬁmaﬁﬁ%a?aaﬁmmw
FMY | I IO T W Y

A8 3

Discuss the paradoxical meanings of ‘love’ in the Tamil
family. .

-aﬁawﬁanﬁﬁw%ﬂﬁmn@aﬁa%ﬁéﬂmﬁ;

Discuss the socialist critique of the institution of family.

N TANEED A HT YT w5

What are the three dg-ﬁnirig moments that have altered the
nstitution of family in the 21% century ?
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B 57 T T I DA AT (e et e

| T F AT AT a9 s @ wmem ow @
& TIfET |

\empr four question.é in all, three questions from Section
4, and one question from Section B.

Questions from Section A carry 20 marks
each and Section B carries 15 marks.

B TR I & I ) @ 7 & Ay

T T @S T H F G T F IR AT

GUS 3 F I & 20 7% Far
TS T F 15 a7F

P10,
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SEcTION A (EUE 37) '

Attempt any three questions.

&=t a7 5% & 3¢ difaT

1. Critically examine the functionalist perspective ith
specific reference to Radcliffe-Brown.

: v ..
Lefoe-arsT & fafee wed § wertors qfiide
A wfgd qdeor Fif |

2. Conflict perspective views conflict and chang,
universal social phenomena. Comment.

Wqﬁﬁﬁﬁaﬁamtrﬁa?haﬁura‘%ﬁﬁm T
m%mﬁm%tﬁwﬁ.%gl

3. Explain how interpretive Perspective elaborates the
concept of social action. :

Fends IR fFE YeR gl R
_mmaﬁﬁwﬁam%?maﬁﬁm

4. Our patterns of social interaction in everyday life
provide an understanding of society. Discuss.
i S & wmifss safdar F am ST,
i gug W T 1 o= Ffw

3 8714

S. Critically examine the structural perspective in the
study of society.

w%amﬂmwﬁ&wmm
oy s ki 20

SecTioN B (W@UE )

Attempt any one question.

4l G 599 &1 3T T

6. How has the feminist perspective challenged the
classical theorist understanding of society?

TarE uils ¥ e S geufia St g 9
fore weR A & 22 15

Or (¥19an)
7. Structuralism as a sociological perspective is seen as an
extension of structural functionalism. Elaborate.

USRS 9fiUey & ®9 § §EAERE S §EAEs
THEEE % fAER % ®7 ¥ 3@ S 81 faen
HifwT | 15

100
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feoruft:— mmwmaﬁa’:‘wrﬁﬂ'ﬂ?@,
T 7 AT AfET qut am?‘ FT AT @ &
gr Erf?(fl 4

Attempt four questions in all, one question from Section A,
two questions from Section B and one ..
question from Section C.

' 'Questions from Section A and B carry 20 marks
each and guestions from Section C carry 15 marks.

Fo AR 9%l & Jo¥ A0 | @e 3 § Uk ¥4, Te
q g 997 a9 @ve @ & ¥ U 9T & IW AT
Tue o7 TR T & FHAN & 20 3%

T @S § F Fwl F 15 HAF &

' PTO.
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"'mﬂﬁmw&mmﬁﬁmmaﬁm‘

3
SEC’I‘ION A (TS H)

Discuss the relatlonshlp between anthropology aud
colonialism.

wmamawﬁ%umz%rwumﬁ%?ﬂaﬁﬁmm

; Elaborate on Gandhl and Ambedkar S debate on the

idea of India.
m%mﬁwmmﬁ-aﬁmﬁaﬁm

ﬁﬁmaﬁﬁm e b 20

SECI'ION B (Eﬂl 'll‘)

‘ Dlscuss the role of 1mm1gratlon in. creatmg ethmc'-

conflicts in India

i -mﬁaﬂaﬂﬁn{l ‘ ‘ 20

‘mﬁwﬁmqﬁaﬂqﬁm% St T

. Crltlcally examme whether or ,;mt Sanskntlzatlon leads

to social change.

aqrt-ﬁ?ﬁﬁqmqﬂmmr{l o a0

. The middle class plays a mgmficant role in shapmg

modern India. Elucidate.

aﬁﬂﬁmwﬁrméﬁﬁwmaﬁaﬁnﬁa{ﬁ
W%:Waﬁﬁm 20

- ;‘
A

. rence to citizenship, rehglon and ethmmty

Q‘

N

3 8715
. "

Section C (tﬁﬂ'a' |)

Natlonahsm is a contentious claim.. Dlscuss with refe-

EER ©h REREE @l 81 AT o qdr
amﬁ‘qm%amﬁﬂﬁm&ﬁql ‘

Do you thmk that seculansm in Indxa has given to
- fundamentalism? Explain. i Ry 15

wm@aﬂ%ﬁsmﬁqﬁ—ﬁﬁwﬁfaamza&
mm‘é?maﬂMI

700




